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Model Question Paper

HAT - XII forear o= qwg-3 "t qutieh : 70
ATHIG foIc9r:-
o usiemnell Jerisid 31uoel 9recl 3 I Sl

Candidates should answer in their own words as much as possible.

o 131l uest siforart 3
All questions are compulsory.
* ol Uil bl A3 48 3
Total number of questions is 48.
o Ul 1 A 25 Ao sglamieud usst & | ucdd Ul & dar fawcu fou a1e 31 J8l fameu @1
TRYol DBISRI Ui Ust & foru 01 3ip forerifya i
Question No. 01 to 25 are multiple choice questions, each question has four options. Select the correct
option. Each question carries 01 mark.
o UI%I FIRIT 26 A 34 A il o1 ITRT u%el 31 51931 A fdbodt 7 el T 3tk Sol siforard 31
UcAdD U%I DI Alol 1 3icb forerifya 3l
Question numbers 26 to 34 are very short answer questions. Out of which it is mandatory to answer
any 7 questions. Each question carries 01 marks.
® UG AHIAI 35 A 42 AD oI ITMRA U%I 3l 111 A fbodl 6 Uil I 32 Solr siforart 3l
D U%I DI Alol 3 3icb forerifya 3
Question numbers 35 to 42 are short answer questions. Out of which it is mandatory to answer any 6
questions. Each question carries 03 marks.
o UY%]I JAIRIT 43 A 48 STet SAIRT Ut 31 fbodl 4 UGl b1 3R Soll Mforari 31 Ui Ul dI
HTol 5 3i forexif¥ea 31
Question numbers 43 to 48 are long answer questions. It is mandatory to answer any 4 questions.
Each question carries 05 marks.
1x25 =25
1. Molarity of an agueous solution containing 2g of NaOH in 200 ml of solution is
a.0.5 b. 10 c.5 d.0.25
200 fANTIET STell faerarst 7 2 ATH NaOH gl 8 A faeret &1 AToRdr a1 g1am?
a.0.5 b. 10 c.5 d.0.25
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2. Among the following subetane the lowest vapour pressure is exerted by

a. Water b. Alcohol c. Ether d. Murcury
A ¥ ford IeTY GanT arsdIg T Tad e gram 2
a. STl b. chlgcl c. $W d. 9RT
3. UnitofKpis?
-1 -1 -1 -1
a. mol Kg b. mol L c.glL d. K Kg mol
K , T HTTH 87
a. mol Kg'1 b. mol L™ c.g L d. KKg mol™
4. The quantity of charge required to obtain one mole of aluminium from Al, O3 is
a. 1F b. 6F c.3F d. 2F
Al O3 & Teh Aol TG ATAIH AT it H fohceil AT 3 TaRr T AT gl
?
a. 1F b. 6F c. 3F d. 2F

5. The molar conductivity is maximum for the solution of concentration ?

a. 0.004 M b. 0.002 M c.0.005 M d. 0.001 M
TSIt & Aredr & foIT Aoy dTelehdr Iad 318 glar ?
a. 0.004 M b. 0.002 M c. 0.005 M d. 0.001 M

6. Specific conductance of 0.1 M NaCl solution is 1.01x 10> Ohm™ cm™ its molar
conductance in Ohm™ cm? mol™ is
a.1.01x 10 b. 1.01x 10° c. 1.01x 10* d. 1.01

0.1 M NaCl [aerasT &1 fafrse arelehdT 1.01x 102 Ohm™ cm™8 ,dT STHT AlelX
ATelehdl Ohm™ cm? mol'lﬁEFCITgIaII ?

a. 1.01x 10? b. 1.01x10° c. 1.01x 10* d. 1.01
7. Radioactive disintegration is an example of?
a. Zero Order b. First order c. Second Order d. Third Order
ety f9aesT v 3eEIoTe 2
a. eI HE b gUAFI c. qfacT Hife d. g
8. The unit of rate and rate constant are same for a reaction ?
a. Zero Order b. First order c. Second Order d. Third Order
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forg 373fiTohaT &1 X TAUT ST FEARTh T ATISh JHTA BT 6 ?
a. T HIfE b. YUH hife c. EIadT HIfS d. AT e

9. The rate constant for a first order reaction is 2 X 10 min™" the half life period of
reaction is
a.69.3 min b.34.65 min c. 17.37 min d. 3.46 min

Ueh FUH HIfC 3ITRAT 1 & ReRi® 2 X 107 min™ § Y 38T Y AT FATE ?
a. 69.3 AT b. 34.65 AT c.17.37 s d. A=

10.During the course of the chemical reaction the rate of reaction

a. Increases with time b. Remains constant with time

c. Decreases with time d. Irregular trend with time

Rt Tramafae 3rafifRar & eirer srafifsrar T e 2

2. HHY & HY TG ¢ | b. HHI & AU fRR @ |

. AT K AT gedrg | d. I7 & 91y AfaafAd war g |

11.Which of the following transition metal ion is colourless ?

a. V" b. Cr’* c.zn’" d.Ti**
ST | et HT HeheAUTT T 37T TG & 2
a. v** b. cr** c.zn™ d. Ti°t

12. Which of the following transition metal ion has highest magnetic moment ?
a. cu” b. Ni** c. Co** d. Fe**
SoTH W hieT-AT HehHUNY Te] 3T ohT YFahId 0T Hallftieh glarg 2
a. cu” b. Ni** c. Co** d. Fe**

13. The hybridisation involed in [Ni (CN)4]2'?
a. sp3 b. dsp2 C. sp3d d. sp3d3
[Ni (CN)4]* & HergoT & 2
a. sp3 b. dsp2 C. sp3d d. sp3d3

14. Which of the following is not a neutral ligand ?
a. Hy0 b. NH3 c. ONO d.CO
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SoTH @ hleT Teh 3SR TN 77gl & 2
a. H,0 b. NH3 c. ONO d. co

15.The number of ions given by [Pt (NH3)g] Cls in aqueous solution will be ?

a.2 b.3 c.5 d. 11
[Pt (NH3)g] Cly STolr fareraet 3 fohctetr 31T 3T |
a.2 b.3 c.5 d. 11

16. Which of the following ligand form a chelate?
a. Acetate b. Oxalate c. Cyanide d. Ammonia

S I diol-aT foldIs dele SeT 2
a. tflce b. HTFHIC ¢ ABATIS d. 37T

17. Which of the following reaction follows Markovnikov’s rule
a. CoHg + HBr b. C3Hg+ Cly c. C3Hg + HBr d. C3Hg + Br>

SIH I i - AT ATRTRAT Fpfafasia & fazs &1 arerat HLam ? |

a. CoHg + HBr b. C3Hg+ Cl> c. C3Hg + HBr d. C3Hg + Bry

18.Which of the following compounds has the higest bolling point ?
a. CH3 CH; CH, ClI b. CH3 CH, CH, CH, Cl
C. CH3CH( CH3) CH» Cl d. ( CH3)3 cdcl

518 O foh IR AT hozatioh Tad 3R § |

a. CH3z CH, CH;, Cl b. CH3 CH; CH, CH, Cl
C. CH3CH( CH3) CH, Cl d. ( CH3)3 ccl

19.Which of the following alkyl halides is hydrolysed by Sn” mechanism?

a. CH3C| b. CH3 CH, cl C. CH3 CH, CH, Cl d. ( CH3)3 ccl
3T W FRT 3TohTsel §l1SS Y gIgaiad Sn' hafafer gary ghem 2
a. CH3C| b. CH3 CH, cl C. CH3 CH, CH, Cl d. ( CH3)3 ccl

20.The ease of dehyrohalogenation of alkyl halide with alcoholic KOH s
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a.3°<2° <1° b.3° > 2°>1°

c.3°<2° >1° d.3°>2°<1°
3TehISH goll3s T 3Tedhiglel KOH & ATY f3gT83Ifoie1ereT T shat Tel & 2
a.3°<2° <1° b.3° > 2° > 1°
c.3°<2° >1° d.3°>2°<1°

21.which of the following haloalkanes is most reactive ?

a. 1- Chloropropane b.1 - Bromopropane
c. 2-Chloropropane d. 2 - Bromopropane
SR ¥ Pl goil3Toshad ey s TfshT & ?
a. 1- PRSI b.1- STHISYA
c.2- FlaRgYeT d. 2 - STAYAeT
22. Conversion of ethyl alcohol into acetldehydre is an example of -
(@)  hydrolysis (b)  oxidation
()  reduction (d)  molecular rearrangement
SATg IePIEial B TRICIeSEIgS § 99 U@ 9alevyl 8 -
a. EAESA K I F ik b. Gy
C. ATHIT d. onfvas yaeiawen
23. The product obtained when sodium phenoxide reacts with carbon dioxide is
(@)  benzoic acid (b)  Salicylaldehyde
(c)  salicylic acid (d)  phthalic acid
ifean frraurss 99 FrdTeEaaEs & 9t Jffea s @ & SR 99—
a. AAIEEH 3T b. AfTasdcfsEEs
c. wfauasfas d. oafas s
24. Etheris obtained from ethyl alcohol in presence of H,SO, at
(@) 113K (b) 443K
(c) 413K (d) 213K
fa a0 w® H,S0, & SuRefy ¥ Fumge sodiaiad @ $oR U 8T @ -
(@) 113K (b) 443K
(c) 413K (d) 213K
SIS R Srgpieror wd nfdrgT uf¥ue, it [afifes wdte) [3P1:2023-2024]  Page5of 12

Jharworld.com



25. The product of hydrolysis of ozonide of I-butene are :
(a)  ethanal only (b)  ethanal and methanal
(c)  propanal and methanal (d) methanal only

T IAE 9T ST 949 |- Ffea & AAES FT A ATacT F —
a. Ha SATATA b. BUTIA X BmEia
C. PICIE IR ER L IR ] d. wmIA AT

(erfer oy ST %)
Answer any seven questions
5l g g & SR T |
1x7=7
26. Give an example of negative deviation from Raoult's Law ?
ASee B a9 & FOTHS fadeT &1 Udb ISTERvT T |
27. Express relationship between resistance (R) and Specific conductivity (k)
yfeier @il faf¥rsee =araear 4 w4y <207 |
28.  Write the IUPAC Name of the compound
few g Fifire @1 IUPAC Im fard |
(CH3)3 CCH,Br
29. Name the aldehyde which does not give Fehling's solution test.
tfesgrgs &1 ™ 9di¢ ol BefdT faaaa v =& 2«r ?
30. The reagent to convert nitrile to primary amine.
MecTsd &l e s 4 g3 & forv sfsds ?
31. The geometry possessed by [Ni(CO),] is
[Ni(CO),] T &R F4T 8 —
32. What are the hydrolysis products of sucrose ?
GHIS BT FollT Jqercd § Fa1 g sid & ?
33.  Why do amines behave has nucleophiles ?
i fFerBIga #1 dve AdeR F BYd 27

34. What happens when aniline is treated with Br, water ?
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FIT BT @ W9 el &t Br,wal (@1 war) & warer Af¥fpar s wimar 27

(Short Answer Type Questions)
(g So9a 9e)

Answer any six questions 6x3=18
5=l B: yTl & STx 2|
35. Differentiate between molality and molarity, write their units. What is the effect on
change in temperature ?
Hrelerdr MY Aiexdl d Fa X a7 9 9= ford | arudr= gRkads ¥ g9 W)

T YHTT ySdar 22

36. NO, dissociates into NO and O, as follows :-

ZNOZ >2NO + Oz

If the rate of decrease of concentration of No, is 6.0 x 10™* moLs™.
What will be the rate of increase of concentration of O, ?
NO,,NO 3R 0, ¥ U usR fafea = wmar 2 —

2NO,

>2NO + 0,
IR NO, @ ¥igdl & 9e &I ¥ 6.0x 102 moL's™ 2 af 0,9
ATEAT &1 9 BT X F°T BT ?

37. Write the IUPAC Names of the following Coordination Compounds :-

(@) K3[Cr(C04)s]

(b)  [Co (NH;)s Cl] Cl,

() Ks[Fe(CN)s]

s w9a diffral & IUPAC I ford

(@)  Ks[Cr(Cy04)s]

(b)  [Co (NH3)s Cl] Cl,

(€)  Ks[Fe(CN)s]

38. Complete these reactiosn :-
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39.

40.

41.

42.

31 affparan’ & qRT R |
(a) CH3 - CHZ -OH + SOC'Z

OH

|
(b)  CHs-CH,-CH-CH;+H,S0, (Conc.)

>
heat

(c) CH3-0-CyHs+HI

Write on :-

(a)  Peptide linkage (b)  Glycosidic linkage
(c)  Name the bases present in RNA.

18 TR fod —

(a) dUwrss dfer (b) Tos@Ifs® Gfer
(c) RNAY & & q9rd &R & =19 ford |
Complete these reactions :- 3fifeatan &1 q=T & —
(@) CH;-CH,-CH,-Cl+KOH (alc.) ———

(b) CH3CH2‘ Cl+ AgCN — -

Acetone
(¢) CH;-Cl+Nal ———>
Write Carbylamine reaction and its use ?

aifda wii= aftfpar o g gaeT SuaiT 9a1v |
a. Define monosaccharide. Give an example ?

b. What are reducing sugars. Give an example ?

a. AFRBUSS 1 TRATNT & | ST T |

b. =Y WS FAT T? THF SATST < |
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(Long Answer Type Questions)

(&=l g ye)
4x5=20

Answer any four questions
gl aR 9T @ SR T |
43. (a) Whatis salt bridge ? Write its functions.
(b)  If acurrent of 1.5 flows through a metallic wire for 3 hours,
then how many electrons would flow through the wire ?
(a) <@ AY ¥ B ? 3HST S ford |
(b) fft enftas aR ¥ 1.5 TR fagga oT 3 @ a% warfaa =i @
al aR 4 fpaa g 3 gadci=l &1 9dre s ?

44. Explain with reason :- Transition metals :-
(i) And their many compounds show paramagnetic behaviour.
(ii)  Generally form Coloured Compound.
(iii)  Exhibit variable oxidation states.
(iv)  And their many Compounds act as good Catalyst.
(v)  Enthalpies of atomization are high.
PIROT §A1d EY T P : AHAT 9%
(i) <R 9@ M A IqgEPT TR vRfad o 2|
(i) arr=ga: e aifre sard 2
(iii) uRadl sifai@svor aazen yefRta & 2
(v) OAT 998 3% G =8 IATE &1 &1 s 2 |
(v) @ il &1 A 9ea quid ¥
45. Identify A,B, C,D and E in the following :-
fFr=fafea & € AB,C,D a2 E$I usaH —

HCN H,O
(a) CH3CHO % IIAII —> IIBII
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46.

47.

48.

SIRAUS IIISID 3rolielol ud UfSIsiur ufdug, el

H+

i) Cl,/P
(b) CH3CH2COOH —> "
ii) H,0
H,
(c) CH3 COCI > "D"
Pd - BaSO4
chr207/H+

(d)  CHsCHO —_—> "E"
Write Short notes on the following :-
(a) Cannizzaro reaction

(b) Clemmensen reduction
(c) Hoffmann bromamide reaction

Fr=ferfRaa w dféra fewofi ford —

(a) of ot srfafear
(b) TARTAT IAHIOT
(c) s grss affear

(A)  Why O-nitrophenol is more volatile than p-nitrophenol ?

Far ? sl — Argeifbeid, IRT—ATscifb-ia € 3ifSre arsqzfier grar @ ?

(B)  Complete these reactions :-

arffparan’ & qof Y |

OH
| Cu
(a) CH3CHCH; ————>
573K

PCC
(b)  CH3-CH = CH - CH,0OH

+

H
() CHsOH + CHsCH,COOH ————
<

(A) Definite rate of reaction. ?

[anftfep u3tetn)
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(B) Thermal decomposition of HCOOH is a first order reaction with rate contant of
2.4x10 2 s at a certain temperature. Calculate how long it take for three — fourth
of initial quantity to decompose.
(A)arfHferar @1 X & aRwva a1 |
(B)ReR @Ta YR HCOOH &T ATy 3T wew Hife fufwar & Rraer 97 Rerrs
2.4x107° s 2| R wiger &1 d—atend uEed ¥ @ GHa B O
)| ?
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ANSWER KEYS :-

1. (a) 2.(d) 3.(d) 4. (c) 5. (d) 6. (a) 7. (b)
8. (a) 9. (b) 10. (c) 11. (c) 12. (d) 13 (b) 14. (c)
15. (c) 16. (b) 17. (c) 18. (b) 19. (d) 20. (b) 21. (d)
22. (b) 23. (c) 24. (c) 25. (c)
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